o
[N

£} [ :
o r :
A F :
9_0.15-_ ....................................... E. .......
o C
v L
(O | AL AL SRR AR
0.05f++ecbereeneeeneene roseeeiey h SRR
MO SO SO S| S
_0.05:_ ....................................... -. .......
.9_0.1;....!....!....!....!....!....
f-HRE. T R R S [
x 0.9F------- R RRESEELREE R RRE SRR b
16U U S T o
03T 6 1 2 3

TP n (PCA to beamline)

< d cot(B) >
o
[
[6)]

o
[N

o
i

(k=]

1 2

3

TP n (PCA to beamline)

—_OT TTdl”_STE] OO0 %
f(%lt step? Y101000. etalp6loZpg.
Ie st t1t01000_etal 6102 0
tolOOO etal
p ate_step2

11101800 etalp6to2p0

< 0dy > (kM)

.....................................

—

(um

N

d,

2o}
\%

100

80

60

40

20

......................................

.........

1 2 3
TP n (PCA to beamline)

s F 5 : :
A u : : :

- 4__" """" TRt S
Q N . . :
: L :

o el et ARREELEE
v N =

2:_.. ........ ‘ ............. 10

1:_ ...... U ; ........ -. ....... . A

0:_ ...............

R SN SN TR N 1| -
PN T I P |

o T4 HEEEEE R SRR LR A o EEEEEEE
T F : : :

d : : :

TP LS TR
ok : : : : i |
-3 -2 -1 0 1 2 3

TP n (PCA to beamline)

Ratio

1 2

3

TP n (PCA to beamline)



	Contents
	Page 1


